
 

 
Product Information Packet 

GA10 
PAIR EYESHIELDS

Copyright © All product information within this document is subject to ABB Motors and Mechanical Inc. copyright © protection, unless otherwise noted.



Page 2 of 3                                

                                                                  Product Information Packet: GA10 - PAIR EYESHIELDS

Parts List

Part Number Description Quantity

HA6093A01 SUPPORT ARM, EYESHIELD FOR 6" GRINDER PL 2.000 EA

HA6094A01SP CLAMP FOR SUPPORT ARM X  PLATED 2.000 EA

83XN2520A16 1/4-20 X 1" LONG CARRIAGE BOLT 2.000 EA

HW1001A25 LOCKWASHER 1/4, ZINC PLT .493 OD, .255 I 2.000 EA

XY2520A12 1/4-20 HEX NUT, DIRECTIONAL SERRATIONS 2.000 EA

10XN2520A14 1/4 20X7/8 HX HD CAP 2.000 EA

G6PK5001A01 CARTON ASSY, BLANK 1.000 EA

PA9010 PACKAGING ASSEMBLY (PARTS) 1.000 EA

G6AP1006A01 EYESHIELD, PLEXIGLASS    ELKINS 2.000 EA

HA6095A01 EYESHIELD CLAMP,FOR GRINDERS  ZINC PLATE 2.000 EA

HW3007C02 RAD64A RVT(UNBRAKO)BRIGGS.188X.450 CLSD 4.000 EA

HW1029A38 WASHER, 3/16 BACKUP (POP RIVET), ALUM. 4.000 EA

83XN2520A12 1/4-20 X 3/4 LONG CARRIAGE BOLT 2.000 EA

HW1001A25 LOCKWASHER 1/4, ZINC PLT .493 OD, .255 I 2.000 EA

XY2520A12 1/4-20 HEX NUT, DIRECTIONAL SERRATIONS 2.000 EA



Page 3 of 3                                

                                                                  Product Information Packet: GA10 - PAIR EYESHIELDS

No performance data has been
assigned to this product.


